MIAMIDADE MIAMI-DADE COUNTY, FLORIDA

N METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603
PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563

(305) 375-2901 FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

M.Q. Windows
1855 Griffin Road, Suite A-274
Dania, F1 33004

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: Series “S70/83 & S70/114” Outswing & Inswing Wood Casement Windows

APPROVAL DOCUMENT: Drawing No. MQF70-1W, titled “Series S70/83 Inswing Wood Casement
Window”, sheets 1 through 19 of 19, prepared by Walter A. Tillit, P.E., dated 7/28/98 with revision on 9/16/02,
signed and sealed by Walter A. Tillit, P.E., bearing the Miami-Dade County Product Control Renewal stamp with
the Notice of Acceptance number and expiration date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA renews NOA # 97-1006.05 and, consists of this page 1 as well as approval document mentioned above.
The submitted documentation was reviewed by Manuel Perez, P.E.

NOA No 02-0129.08

Expiration Date: December 10, 2006
Approval Date: October 31, 2002
Page 1




M.Q. Windows

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED
(For File ONLY. Not part of NOA)

A. DRAWINGS
1. Manufacturer's die drawings and sections.
2. Drawing No. MQF70-1W, titled “Series S70/83 Inswing Wood Casement
Window”, sheets 1 through 19 of 19, prepared by Walter A. Tillit, P.E., dated
7/28/98 with revision on 9/16/02, signed and sealed by Walter A. Tillit, P.E.

B. TESTS
1. Test reports on 1) Air Infiltration Test, per PA 202-94
2) Uniform Static Air Pressure Test, Loading per PA 202-94
3) Water Resistance Test, per PA 202-94
4) Forced Entry Resistance, per ASTM F 588-85
5) Large Missile Impact Test, SFBC PA 201-94
6) Cyclic Loading Test, per SFBC PA 203-94
along with installation diagram of an in-swing and out-swing wood door prepared
by Hurricane Test Laboratory, Inc., Test Report No. HTL-0118-1202-96, dated
from 01/15/97 to 03/25/97, signed and sealed by Timothy Marshall, P.E.
2. Test reports on 1) Air Infiltration Test, per PA 202-94
2) Uniform Static Air Pressure Test, Loading per PA 202-94
3) Water Resistance Test, per PA 202-94
4) Forced Entry Resistance, per ASTM F 588-85
5) Large Missile Impact Test, SFBC PA 201-94
6) Cyclic Loading Test, per SFBC PA 203-94
along with installation diagram of an in-swing and out-swing wood casement
window, prepared by Hurricane Test Laboratory, Inc., Test Report No. HTL-
0118-0516-97, dated 05/215/97, 06/03/97 and 06/04/97, signed and sealed by
Timothy Marshall, P.E.

C. CALCULATIONS
1. Engineering & Anchor Calculations, prepared by Tilteco, Inc. Testing &
Engineering Co. dated 09/09/97, revised on 8/20/98, signed and sealed by Walter
A. Tillit Jr., P.E.

D. MATERIAL CERTIFICATIONS
1. Notice of Acceptance No. 96-0517.01, issued to Monsanto Chemical Co. for
“Laminated Glass with Saflex PVB Interlayer” dated 01-09-97, expiring on
01/09/00.
2. Notice of Acceptance No. 97-0527.04 , issued to Nebula Glass Internatlonal Inc.
for Glasslam “Safety-Plus” laminated glass.with Safety-Plus Polye
dated 09/09/97, expiring 09/09/00.

Product Control i
NOA No 02-0129.08
Expiration Date: December 10, 2006
Approval Date: October 31, 2002



M.O. Windows

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED
(For File ONLY. Not part of NOA)

E. STATEMENTS
1. None

F. OTHER

1. Notice of Acceptance No. 97-1006.05, issued to M.Q. Windows for their Series
“S70/83” Outswing & Inswing Wood Casement Window, approved on 12/10/98
and expiring on 12/10/01.

Expiration Date: December 10, 2006
Approval Date: October 31, 2002



51/4 14 MAX. 14 MAX. 14 MAX. 14 MAX., . 5 1/4
-+ *
51/4 /"\ 51/4
i X i
14 MAX. / \ K 14 MAX.
14 MAX. / \ 14 MAX
/ O
14 MAX. 14 MAX
/NN
14 MAX. / WINDOWS \ 14 MAX.
UP TO 8
T N 139 1/2" T 4
FH
14 Max. | 14 max. T
WINDOWS ~
\ 96” FH / -
[e)]}
14 MAX. 14 MAX. ™
A \\\ & /-
14 MAX.§ . {14 MAX
N/
*
L ~ ———e-
rf)
14 MAX. \S,% / 14 MAX
14 MAX. \ /@@ 14 MAX
51/4 W/ 5 1/4
e —_——
51/4 | Ma Max.d14 max]14 MAX.{14 MAX. 5 1/4
64 FW & OSW

VIEWED FROM THE INSIDE

CONFIGURATIONS:
X, XX, 0/XX ,0XX,XX0,0X,X0

WOQOD: Mahogany

OF EUROPE AND

THE AMERICAS

1855 GRIFFIN ROAD, SUITE A—274
DANIA, FL 33004

SERIES 70/83
INSWING
WOOD CASEMENT WINDOW

METRO DADE COUNTY
IMPACT RESISTANT
PA201, PA202 & PA203

Drawing no.: MQF/70—1W
Scale: Drawn by:
NONE S. Marcotte
Date drawn: Date revised:
07/28/98 09/16,/02
File: Page:
Dadelin_1.dwg 1/1 9

ENGINEER:

STRICTURALLY eevicueb &Y'

TILLIT TESTING & ENGINEERING COMPANY]
. 3*STREET STE.

AL, FLORIDA 33150 ar.
WALTER A.TILLIT JR..PE,
STRUCTURAL ENGiMEER
FL. LIC.NO. 4367

L

QUL

51/4 X 14 MAX. 14 MAX. 14 MAX. 14 MAX. .S 1/4 DESIGN PRESSURE
— . Acting Inward: +58 psf
51/4 /‘\ 51/4 Acting Outward: -68 psf
rwﬁ X X J"T NOTE: Al sizes noted are
maximum sizes. Sizes smaller
14 MAX. / \ K 14 MAX. in width & height are permitted.
4+ \ \ Q N ——t ANCHOR FASTENERS
/ \ —— Steel Bracket PDF—-FS-05
14 MAX. 14 MAX Screwed to the buck frame and
K to the door frame with
) 1 #10 x 1-3/4 in. flat head screws
E Min. embedment is 1-1/2".
— Screwed through the door
14 MAX. <F> 14 MAX frame to the buck frame with
/ \ #4 x 3 in. flat head screws.
+— ———t Min. embedment is 1-1/2 in.
/ \ OPTIONAL:  Directly screwed
14 MAX. 7 \ 14 MAX. through the fro;ne through the
7 \ n masonry with 1/4” x 3" Tapcon
J N WINDOWS UES 1L © | Embedment is 1-1/2 in.
TO 139 1/2 ;
FH 3 (P)[R)F FUSSI%QS the stegl tbrocket
-FS-05 screwed to the
14 MAX [ 114 MAX o frame with #10 x 1-3/4 screw
N\ o~ & screwed to the masonry with
— N WINDOWS UP — ~ 1/4" x 2 1/2" Tapcon screw.
\ TO 96" FH / o Min. embedment is 1-1/2"
14 MAX. \ / 14 MAX. ™ INSTALLATION FASTENERS:
Spacing is 5-1/4 in. from
j | corners and 14" max o/c.
\ / SHIM SPACE:
14 MAX <F> 14 MAX 1/4 IN. @ JAMBS, HEAD & SILL
\ J “ / HINGES SPACING
- ~ —
M Two pins hinges # 2D-20 by
\! a0 \\ Simonswerk GmbH secured with
14 MAX. \ \m / \ 14 MAX two #8 x 1-1/2" screws
L | MATERIAL: ,
\ BCS: Bichromated steel (open in),
\ ’ SS: Stainless steel (open out)
14 MAX, \ /@@ 14 MAX (open out)
i ; i FRAME  QTY: DIST. 0/C
\ S
" ™ N
51/4 5 1/4 481/8° 2 61/8° 27"
5 1/4 | 14 Max 114 Max 114 MAX[14 MAX. 5 1/4 691/8 3 61/8" a7
9% 1/8" 4 61/8 27
1391/ 5 61/8° 30 3/8"
64 FW & OSW
LEGEND: 091802 TYPE OF GLASS T
FW: FRAME SIZE, WIDTH -
FH: FRAME SIZE, HEIGHT ﬁ%jé,”'ﬂf}“f%%gg5§1§gf'glx 090 312 23.0
OSW: OVERALL SIZE, WIDTH — -
OSH: OVERALL SIZE, HEIGHT WP: 1"3/4 RAISED WOOD PANEL 151 1/8 8.83

——

PRODUCT RENEWED
as complying with the Flerids
Buiding Code

Acceptance No




¢33 FW & OSW 64 FW & OSW ——¢ DESIGN PRESSURE
51/4 | 14 MAX, ‘I 51/4 51/4 | 14 MAX. 14 MAX. 14 MAX.. | 51/4 Acting Inward: +58 psf 1L @
WINDOWS ®

b 1 I L 5 { Acting Outward: -68 psf
-— - ’ v NOTE: All sizes noted are i yreeado]
51/4 51/4 51/4 | S 1/4 T maximum sizes. Sizes smaller
I—-- H——+ I _T in width & height are permitted. 1855 GRms%% :ssoLgIE A-274
: o0 .
K 14 MAX A 0 W 14 MAX >I
14 MAX. 14 MAX. +_—_ A\ .,—-_+ @ ANCHOR FASTENERS
- SERIES 70/83
1 14 MAX 14 MAX 28] © —— Steel Bracket POF-FS—-05 INSWING
> Screwed to the buck frame and
\ ,@ L L1 5 to the door frame with WOOD CASEMENT WINDOW
14 MAX. 14 MAX. 51/4 S 1/4 #10 x 1-3/4 in. flat head screws
57/2 T S 174 Min. embedment is 1-1/2". METRO DADE COUNTY
] 1 ﬁd /\ ’_T L —4 Screwed through the door IMPACT RESISTANT
i 14 MAX X X 14 MAx O frame to the buck frame with PA201, PA202 & PA203
! C #14 x 3 in. flat head screws.
14 MAX. 14 MAX. e Too / \ Min. embedment is 1-1/2 in. —
+— ——t rawing no.: -
j— \ | : PAGE 11 OPﬂONAL:h l?irectly screwed awing MQF70-1W
through the frame and through Scale: Drawn by:
14 MAX K 14 MAX the masonry with 1/4” x 3" NONE S. Mor{otte
14 MAX. 14 MAX. — . Tapcon. Embedment is 1-1/2 in. - —
T 1+— — OR: Usi Date drawn: Date revised:
7 . Using the steel bracket 07/28/97
S POF-FS-05 screwed to the 09/16/02
+— —— 14 MAX : e: :
) L 14 MAX i / \ i frame with $10 x 1-3/4 screw File: Page: 2/1 9
W\ \= A \ W\ & screwed to the masonry with Dadelin_2.dwg
14 MAX. /: 14 MAX. T © T+ \\ \ N 1/4" x 21/2" Tapcon screw.
~ o 14 MAX - T Min. embedment is 1-1/2 ENGINEER:
+— — D M 14 MAX WINDOWS 3 INSTALLATION FASTENERS:
o N ) UP TO g - Spacing is 5-1/4 in. from
14 MAX. 14 MAX. 2 - ‘@ 139 1/2" corners and 14" max o/c.
14 MAX FH \ﬁk 14 MAX SHIM_SPACE: . ’ ___
j. / WINDOWS / 1/4 IN. @ JAMBS, HEAD & SILL | | STRVCTURALY 2eVislUeD BY!
| @ %" 0 B INGES SPACING
14 MAX. / {14 MAX. 14 MAX \ / 14 MAX s murrssnn.s ECO .
wo pins hinges - y & ENGINEERING C
1+ ﬂ 71 — I O\ \\\ —t Simonswerk GmbH secured with L U W PSTREET STE. 217
3 two #8 x 1-1/2" screws 'WAL UMIIA,TI.OBIDA 33186
at — : TERA.TILLIT JR.. P.E,
14 MAX. 14 MAX. 14 MAX \ ™ ﬂ / 14 MAX MATERIAL: ;
9 / d N ] BCS: Bichromated steel (open in) STRUCTURAL ENGINEER
N oy — SS: Stainless steel (open out) i FL.LIC.NO, 43167
i 14 MAX \?’3 / 14 MAX FRAME  QTY: DIST.  0/C - /‘é\/,
14 MAX H 14 MAX HEIGHT FROM  MAX. &‘—’—ﬁ’/‘
: | - UP TO CORNER Dy H o
j . ' ) \ / n 81/ 2 61/8 2T
51/4 51/4 14 MAX 14 MAX 69.1/8" 3 61/8° 27
. - f . j % 1/8" 4 61/8 27
s1/a| [14mMAx. | | 51/ L \/ | 1391/2" 5 61/8" 303/8
. N 5 1/4 5 1/4 PRODUCT RENEWED
$ { T as ccmplying with the Ficrida
51/4 | PM MAX. [ 14 MAX.?M MAX.] | 51/4 Buiding Code
+ ¢ + + — Acceptance No 02-0129.08
Expiration Date 006
VIEWED FROM THE INSIDE LEGEND: 09/5/02 TYPE OF GLASS MA)E-inP]ERI- Wt)s(q ?tR]EA :
. FW: FRAME SIZE, WIDTH : Ll g'yh 2
CONFIGURATIONS: . G2: LAMINATED GLASS, Saflex .090 ] e Product Con,
FH: FRAME SIZE, HEIGHT 312 23.0 pewys
X, XX, 0/XX, OXX, XXO, OX, XO OSW: OVERALL SIZE, WIDTH 1/4 cl. an.+ 0.090 +1/4 ci. an.
WOOD: Mahogany OSH: OVERALL SIZE, HEIGHT WP: 173/4 RAISED WOOD PANEL 151 1/8 8.83




<~ =
14 .14 . .14 R .
5 1/4"T MAX MAX. 14 MAX MAX ;T; 14 MAX14 MAX T_s 1/4 DESIGN PRESSURE
. . o Acting Inward: +58 psf | .
51/4 5 1/4 Acting Outward: -68 psf Wi ®
l O N\ X :Jn%TE All sizes nSq;ed are ) OF ERGRE MO
14 MAX. ximum sizes. Sizes smaller
A @ N <> 14 MAX. n width & height are permitted || 1gs5 GRIFN RoRD, SUTE A-274
+__... ___+ IA, 004
SEE ALSO
14 MAX. PAGE 11 W ﬂ TV VIEWED FROM THE INSIDE ANCHOR FASTENERS
+_. A - ' o CONFIGURATIONS: —— Steel Bracket PDF-FS-05 SERIES 70/83
14 MAX \\\ > 14 MAX 3 X XX 0/XX ,0XX, XXO, OX, X0 ts:rf::dd;gr "f::m?:d;lt:ame and INSWING
' \ T WOOD: Mahogany 10 x 1-3/4 in. flat head screws WOOD CASEMENT WINDOW
+_— ? ﬂ u_\L ~ Min._embedment is 1-1/2" METRO DADE COUNTY
14 MAX. ~ / 14 MAX. T — Screwed through the door IMPACT RESISTANT
~ frame to the buck frame with PA201. PA202 & PA203
- LEGEND: #14 x 3 in. flat head screws. ’
14 MAX A © 14 MAX ) : Min. embedment is 1-1/2 in.
- , . FW: FRAME SIZE, WIDTH Drawing no.. MQF70—1
| 7 FH: FRAME SIZE, HEIGHT OPTIONAL: Directly screwed g Q W
OSW: OVERALL SIZE, WIDTH through the frame and through Scale: D 5
5 1/4 1.5 1/4 OSH: OVERALL SIZE, HEIGHT the masonry with 1 /4 x 3 cate: rawn dy:
T M Tapcon. Em edment is 1-1/2 in. NONE S. Marcotte
5 1/4—4 g g 51/4 OR: Using the steel bracket Date drawn: Date revised:
14 MAX. 14 MAX. 14 MAX. 14 MAX. 110 14 MAX14 MAX. POF-FS-05 screwed to the 07/28/97 09/16,/02
wn o0
| frame with #10 x 1-3/4 screw | File: Page:
y 5/8 33 FW——¢ &/screwgd }% the masonry with Dadelin_3.dwg ) 3/1 9
62 1/2 FW /4" x 21 Tapcon screw. —_—
5/8 0/C Min. embedment is 1-1/2" ENGINEER:

94 1/4 OSW

14 MAX. 14 MAX. 14 MAX. 14 MAX. U 14 MAX. 14 MAX 14 MAX.14 MAX
51/4 1t t51/4 SHIM SPACE:
110 E X / \ X I HINGES SPACING
i @ XN Cgy=1 CE T Ee N I T T
@ v 7/ \ \ N ¢ two 48 x 1-1/2" screws 159 WM IPSTREET STE 17
14 MAX. \ \ 14 MAX MATERIAL: :
SEE ALSO E / A AN u é BCS: Bighromated steel (open in) WALTER A.TILLIT JR.. PE,
A \ PAGE 14 N SS: Stainless steel (open out) STRUCTURAL ENGINEER
14 MAX. W < > 14 MAX. 2 FRAME  QTy: DIST. o/ |l FL. LIC.NQ, 43157
+_~ \ . / __+ T HEIGHT FROM  MAX.
i A UP TO CORNER .
14 MAX. AN >~ H / 1 14 MAX. N 481/8° 2 61/8° 27 ?//5? o
\ / 691/8° 3 61/8 27
‘a\a‘ 9% 1/8° 4 61/8 7
14 MAX. A N / 14 MAX. 139 1//2' 5 6 1§8' 3023/8'
E < A PRODUCT RENEWED
4\—- “’_L as complying with the Florida
51/4 51/4 Buiding Code
T Acce.:ptnnce No,
= R Expiration Date
1/4 > -
51/ 14 MAX. 14 MAX. 14 MAX. 14 MAX. anm 14 MAX. 14 MAX. 51/4 08/16/02 TYPE OF GLASS MAX.' PERI. IMAX. AREA a);.m
5/8 | 64 FW JiN [in.] [sq.ft. Divisi
1 5/8 o/c 1/4 o an.+ 0.090 +1/4 cl. an. :
o————— 125 1/4 OSW WP: 173 /4 RAISED WOOD PANEL 151 1[8 8.83

INSTALLATION FASTENERS:
Spacing is 5-1/4 in. from
corners and 14" max o/c.




51/4 14 MAX. 14 MAX. 14 MAX. 14 MAX. .9 1/4 5 1/4 14 MAX. 14 MAX. 14 MAX. 14 MAX. . 51/4 DESIGN PRESSURE
— I I . — . Acting Inward: +58 psf '
51/4 /\ 5 1/4 51/4 /v\ 51/4 Acting Outward: -68 psf
= 1 ] - NOTE:  All sizes noted are OF ELROPEAND
E X X j T- E X X | j ‘T maximum sizes. Sizes smaller e
14 MAX. / \ | 14 MAX. 14 MAX. / \ 14 MAX. in width & height are permitted. 1855 GRIFFIN ROAD, SUITE A—274
DANIA, FL 33004
4 — L~ 4+—— ———t ANCHOR FASTENERS
\\\ \\\
/ \ \ / \ \ —Steel Bracket PDF-FS—05 SERIES 70/83
14 MAX. 14 MAX. 14 MAX. 14 MAX. Screwed to the buck frame and OUTSWING
to the door frame with
J @ 1 . @ 1 #10 x 1=3/4 in. flat head screws WOOD CASEMENT WINDOW
i j i Min. embedment is 1-1/2". METRO DADE COUNTY
14 MAX. 14 MAX. 14 MAX. f 14 MAX. oy rewad fhrough the door IMPACT RESISTANT
/ \ & \ / \ #14 x 3 in. flat head screws. PA201, PA202 & PA203
pa— N\ L ——+ +— ——— Min. embedment is 1-1/2 in.
14 A 14 MAX 14 MAX / \ 14 MAX OPTIONAL:  Directly screwed Drawing no.: MQF70—1W
. . . . through the frame and through
/ WINDOWS \ 5 / \\ 5 the n?osonry with 1/4” x 3" g Scale: Drawn by:
L 0 %Jgg T1O/2., 1l o . 0o %Jgg 1-10/2., ] © Tapcon. Embedment is 1-1/2 in. NONE S. Marcotte
o 3 by 3 OR: Using the steel bracket Doée7/dzrgygi7 Date revised:
PDF-FS-05 screwed to the 09/16 /02
14 MAX. E< >3 14 MAX. T 14 MAXJ N \\\ 114 MAX. T | frame with #0 x 1-3/4 serew || /16/
. ile: Page:
WINDOWS ™ o~ & screwed to the masonry with Dadelout_1.dwg 4/ 19
4 @ UP TO _— ~ 4+ @ UP TO —t >~ 1/4” x 2.1/2" Tapcon screw. —
\ 96" FH / - \ 96" FH / - Min. embedment is 1-1/2 ENGINEER:
14 MAX. 14 MAX. D 14 MAX. \ / 14 MAX. ™ INSTALLATION FASTENERS:
Spacing is 5-1/4 in. from
\ corners and 14" max o/c.
P W . \ \\ \\ \ e ] |—r——¢-
\ SHIM SPACE:
14 MAX. X {14 MAX 14 MAX. | <f> X {14 MAX. 1/4 I © JABS, HEAD & SLL_|["STRUCTORA LN eeU el B
\ { | / L \ i I / | HINGES SPACING
- o e e el e nut rs;!:slzlsnecﬁgnwéoumv
14 MAX. © 14 MAX. 14 MAX.  O\R N 14 MAX. pimonswerk Gmbif secured with 8505 NW 3¢~STREET STE, 217
\ N wo #8 /2" screws
N VAT . WIAMI, FLORIDA 33166
T 1 T \ — 1 BCS: Bichromated steel {(open in)
\ / J ] \ / J j, SS: Stainless steel (open out) WALTER A. TILLIT JR., P.E,
14 MAX. J 14 MAX. 14 MAX. 14 MAX. FRAME  QTY: DIST 0/ STRUCTURAL ENGITIEER
i W/ i ‘l l_ i \/ i HEIGHT ' (F)RgMER MAX. ‘
+— — —~ — U ORN ’
51/4 51/4 51/4 51/4 81/8° 2 61/8 2T G et
” n " 4 i
5 1/4 14 MAX.114 MAX.014 MAX.J14 MAX. 5 1/4 5 1/4 14 MAX.114 MAX.114 MAX.|14 MAX. 51/4 gg };g i g%g g
1391/ 5 61/8" 30 3/8" PRODUCT RENEW -
64 FW & OSW———+ 64 FW & OSW / ”Smeplyingwithmfgoﬂda
Buiding Code
Acceptance No_02-0]2G. O8
2006
VIEWED FROM THE OUTSIDE LEGEND: TYPE OF GLASS MAX-, PERI. | MAX. AREA Miamf Dade Product Cont
FW. FRAME SIZE, WIDTH in. [sq.ft.] Divis
CONFIGURATIONS: ; '
FH: FRAME SIZE, HEIGHT G2; LAMINATED GLASS, Saflex .090 312 230
X, XX, 0/XX ,0XX,XX0,0X,XO0 OSW: OVERALL SIZE, WIDTH 1/4 cl. an.+ 0.090 +1/4 ¢l. an. '
WOOD: Mahogany OSH: OVERALL SIZE, HEIGHT WP: 1”3/4 RAISED WOOD PANEL 151 1/8 | 883




51/4T

33 FW & OSW
14 MAX. 7 5 1/4

5 |

k

51/4 51/4
T n
14 MAX. @ 14 MAX
\ O
14 MAX. \ 14 MAX
14 MAX. \ 114 MAX
14 MAX. \ 14 MAX
I
[72]
> l———¢ ©
\\\\ i >
14 MAX. 14 MAX. &
N
- ———- ~
/ =
14 MAX. 14 MAX. 2
14 MAX. H14 MAX.
s /|1
¢
— \ ———
M
o0
14 MAX. n/ 14 MAX
D
14 MAX. J 114 MAX.
51/4 5 1/4
) 7 hd
51/4 | 14 MAX. | 51/4
VIEWED FROM THE OUTSIDE
CONFIGURATIONS:

X, XX, 0/XX, OXX, XXO, OX, XO

WOOD: Mahogany

¢——64 FW & OSW——9

LEGEND:

FW: FRAME SIZE, WIDTH
FH: FRAME SIZE, HEIGHT
OSW: OVERALL SIZE, WIDTH
OSH: OVERALL SIZE, HEIGHT

51/4 14 MAX. 14 MAX. 14 MAX.. 51/4
t t t }
. ! ! ! | ] .
51/4 | 51/4 I
T -1 -
14 MAX 14 MAX <
#ﬂ- @ 0 \\\ " —T
B
14 MAX 14 MAX €
1 | D
5 1/4 51/4 7 ’
51/4 /‘r\ 5 1/4 # Ioo|
T 1| x X 1 >
14 MAX e 14 MAX
+— SEE ALSO / \ —1t
PAGE 11
14 MAX / \@ 14 MAX
114 MAX ] / \ 1 14 MAX
wn
J . \ \ _ 1
© \ \ Q
< -
S 14 MAX 14 MAX o I
< WINDOWS M
N~ 4— o UP TO 1
- 139 1/2
14 MAX § FH | 14 MAX
WINDOWS
T q UP TO —t
96" FH
14 MAX / 14 MAX
R i & \\\ e o
14 MAX \ B / | 14 MAX
i ﬂ I
14 MAX \ / 14 MAX
—r— { . " -
M J J
14 MAX o | 14 MaX
L_d N/ |
51/4 51/4
T
51/4 | }14 MAX.EM MAX.EM MAX.{ | 51/4

DESIGN PRESSURE

Acting Inward: +58 psf
Acting Outward: —68 psf

NOTE:  All sizes noted are
maximum sizes. Sizes smaller
in width & height are permitted.

ANCHOR FASTENERS

OF EUROPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

—— Steel Bracket PDF-FS-05
Screwed to the buck frame and
to the door frame with

#10 x 1-3/4 in. flat head screws
Min. embedment is 1-1/2".

—d Screwed through the door
frame to the buck frame with
#14 x 3 in. flat head screws.
Min. embedment is 1-1/2 in.

SERIES 70/83
OUTSWING

WOOD CASEMENT WINDOW

METRO DADE COUNTY
IMPACT RESISTANT
PA201, PA202 & PA203

OPTIONAL:  Directly screwed
through the frame and through
the masonry with 1/4” x 3"
Tapcon. Embedment is 1-1/2 in.
OR: Using the steel bracket
PDF-FS-05 screwed to the
frame with #10 x 1-3/4 screw
& screwed to the masonry with
1/4" x 2 1/2" Tapcon screw.
Min. embedment is 1-1/2"

Drawing no.: MQF70—-1W
Scale: Drawn by:
NONE S. Marcotte
Date drawn: Date revised:
07/28/97 09/16 /02
File: Page:
Dadelout_2.dwd 9 5/19

INSTALLATION FASTENERS:
Spacing is 5-1/4 in. from
corners and 14" max o/c.

SHIM SPACE:
1/4 IN. @ JAMBS, HEAD & SILL

ENGINEER:

HINGES SPACING

Two pins hinges # 20—-20 by
Simonswerk GmbH secured with
two #8 x 1-1/2" screws

MATERIAL:
BCS: Bichromated steel (open in)
SS: Stainless steel (open out)

A

Structu RALY Eeviewed &Y ;

[ TIECO ue \

TILLIT TESTING & ENGINEERING COMPANY|

8595 NW 3¢*STREET,STE. 217
MIAMI, FLORIDA 33166

WALTER A. TILLIT JR__ PE,
STRUCTURAL ENGI/ET 7R

Fl.. LIC.NO. 41C7

Do

9///70 A

FRAME  QTY: DIST. 0/c
HEIGHT FROM MAX.
UP TO CORNER
481/8" 2 61/8" 27"
691/8° 3 61/8° 27"
9% 1/8" 4 61/8° 27
1391/2" 5 61/8" 30 3/8"
MAX. PERI. |MAX. AREA
TYPE OF GLASS [in.] [sq.ft.]
G2: LAMINATED GLASS, Saflex .090
1/4 cl. an.+ 0.090 +1/4 cl. an. 312 230
WP: 1"3/4 RAISED WOOD PANEL 151 1/8 8.83

PRODUCT RENEWED ~

as complying with ¢
Buiding Codge he Florida




14 MAX. 14 MAX. 14 MAX. 14 MAX. 14 MAX14 MAX
51 /4_T 47 T_s 1/4 DESIGN PRESSURE
. . . Acting Inward: +58 psf
51/4 51/4 Acting Outward: —68 psf .
14T_-MAX 11 O \\ X it NOTE: Al sizes noted are OF EURGPE 4D
_ 3 N 14 MAX. maximum sizes. Sizes smaller THEAMERIGAS
] - X | in width & height are permitted. 1855 GREFmAR%ﬁD' SUITE A—274
AL , FL 33004
\!
14 MAX. PAGE 11 \ AN j 14MAX. VIEWED FROM THE OUTSIDE ANCHOR FASTENERS
‘ @ @ D= © CONFIGURATIONS: —Steel Bracket PDF—FS—05 SERIES 70/83
14 MAX. \\\ o 2 X, XX, 0O/XX ,0XX, XXO, OX, XO Screwed to the buck ffame ond OUTSWING
] o ﬂ Y | o WOOD: Mahogany #10 x 1-3/4 in. flat head screws WOOD CASEMENT WINDOW
—— ? . j—'-—— ~ Min. embedment is 1-1/2".
A ~ i Yy, N METRO DADE COUNTY
] 14 MAX. —q Screwed through the door
J — / frame to the buck gfchme with IMPACT RESISTANT
i a g Y, J-’ LEGEND: #14 x 3 in. flat head screws. PA201, PA202 & PA203
14 MAX. I ) | 14 MAX. FW: FRAME SIZE. WIDTH Min. embedment is 1-1/2 in.
7 | FH: FRAME SIZE, HEIGHT OPTIONAL:  Directly screwed Drawing no.: MQF70—-1W
s 1T 5 1 /4 OSW: OVERALL SIZE, WIDTH through the frame and through S ;
; i ! OSH: OVERALL SIZE, HEIGHT the masonry with 1/4” x 3" cale: Drawn by:
51/ << Tapcon. Embedment is 1-1/2 in. NONE S. Marcotte
14 MAX. 14 MAX. 14 MAX. 14 MAX, ;‘I R TEVTTATRVIvAl B 1/4 PO Folh trames o Dont)%;jzrg%; D°Beg }%%‘3’
5/8 33 FW——t e rowed b e momonry win (| 57 Page: ¢ /1
62 1/2 FW %2 1/2" Topoon screw. |[oodelout_S.dwg /19
-+ 5/8 0/C Min. embedment cilgc1oil1;§r"ew.
o4 1/4 OSW INS.TALLAHON FASTENERS ENGINEER:
. Spacing is 5-1/4 in. from
5 1/4 14 MAX, 14 MAX. 14 MAX. 14 MAX. X 14 MAX. 14 MAX. 14 MAX14 MAX 5 1/4 corners and 14" max o/c.
1 . t SHIM_SPACE:
. . 1/4 IN. - .
st X7 /4 IN._@ JAVBS, HEAD & SLL |[FSrpocrUZA LY P aet By
nm 0 [ | X /1T INX —t HINGES SPACING
. @ @ / AN | 14 MAX. Two pins hinges # 20-20 by z 'li 'Eco ne 5
o 74 N -4 ?lmonswerk_Gmbb secured with TILLIT TESTING & ENGINEERING COMPANY
. . wo #8 x 1-1/2" screws 8595 NW 36*
0 A PARR NN STREET,STE. 217
i { 14 uAx o MATERIAL: MIAM, FLORIDA 33166
4] SEE ALSO / N\ | 7 BCS: Bichromated steel (open in)
q . PAGE1! qg SS: Stainless steel (open out) ||WALTER A. TILLIT JR., P.E.
14 MAX. NN > 14 MAX. S FRAME  QTY: DIST 0/C STRUCTURAL ENGINEER
] N i - /1 T HEGHT  FROM WA FL. LIC.NO. 43167
14 MAX. NN J Q ORNER - ~
N y / 14 'vaX‘ ~ 481/8" 2 61/8" 271" Ty O
© A 691/8" 3 61/8" 27 -
N n " n
- @ N§ Y <J> " Mle % 1/8 4 61/8 27
i o . i : 1391/2" 5 61/8" 30 3/8
51/4
T/ 5 1$/4 | ;chgvfrnsyewm -
5 1/4 S5 Buiding Code " 11078
T4 MAX. 14 MAX. 14 MAX. 14 MAX. o [l 14 MAX. 14 MAX. =5 1/4 MAX. PERT. [MAX. AREA
TYPE OF GLASS - PERL [MAX.
5/8 64 FW [in.] [sq.ft.]
62 1/2 FW %}AleATEDO((;)5/(\)55,1 ;gﬂex 090 319 230
4L cl. an.+ 0. + cl. an. )
125 1/4 OSW - 5/8 0/C W 13 3
: 1"3/4 RAISED WOOD PANEL 151 1/8 | 8.83




Using the steel bracket
PDF-FS-05 screwed to the

in. embedment is 1-1/2

1/4” Shim space

frame w/#10 x 1-3/4 screw &
screwed to the masonry with
1/4" x 2 1/2" Tapcon ‘screw.

@ FOR DOORS UP TO 139 1/2° FRAME HEIGHT

CONTINUOUS <44-1/4" Shim space @
1X4PT )
W00D SHIM e 47/8" —— 6 7/8
l 31/4” 15/8" 1 5/8"I 3 5/8" A 5/8"
3 INACTIVE ACTIVE
< HE-431 1 - HE-448
HE-441
s @
N 2 A
<L/ B —l=== 2
=
11 =7 r X 70
;—_—_D_J T 9 5
B 8
: HE—441
1.3/4" 2 1/2" 3/4 3/4" 2 1/2" 3/8" 2 1/2" 3/4°
L DAYLIGHT
7" OPENING
-#-DOOR WIDTH ~=-=—DOOR WIDTH-#
X OVERALL WIDTH & FRAME WDTH

Directly screwed through the

frame to the masonr
1/4" x 3" Tapcon.

with
inimum

embedment is 1-1/2 in.

09/16/02
NOTES:

INSTALLATION FASTENERS:
Spacing is 5-1/4 in. from
corners & 14" max o/c.

SHIM SPACE:

1/4 IN. @ JAMBS, HEAD & SILL

—— Steel Bracket PDF-FS-05

screwed to the buck frame &

to the door frame with

10 x 1-3/4 in. F.H. screws

in. embedment is 1-1/2".

=
HE-431
I‘H'
1/4" Shim spccel{» :
@ FOR DOORS UP TO 96" FRAME HEIGHT |
@ 2 X 4 PT WOOD BUCK
6 7/8" . 4 7/8"
1 5/8”I 35/8" A 5/8”" 1 5/8"I 31/4”
INACTIVE ACTIVE
S 1 HE-431|\
O
7 1|v (e ]
L_E:_:_:
HE-441
1/4"
- 2 " ” » - i Shim
3/4" 2 1/2"3/8" 2 1/2" 3/4 3/4" 2 1/2" 1 3/4"| space
OVERALL WIDTH & FRAME WIDTH -

—4 Screwed through the door
frame to the buck frame with
14 x 3 in. flat head screws.
in. embedment is 1-1/2 in.

OF EUROPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

SERIES 70/83
INSWING
WOOD CASEMENT WINDOW

METRO DADE COUNTY
IMPACT RESISTANT
PA201, PA202 & PA203

Drawing no.: MQF70—-1W
Scdle: Drawn by:
NONE E. Corbeil
Date drawn: Date revised:
09/09/97 09/16 /02
File: Page:
Dadetin_4.dwg| = 7/ 19

ENGINEER:

STROCTURALLY gy idyebn:

[ TNITECO me \

TILLIT TESTING & ENGINEERING COMPANY
8595 NW 36*STREET,STE. 217
WHAMI, FLORIDA 33168

'WALTER A. TILLIT JR., P.E.
STRUCTURAL ENGINEER
FL_ LIC.NO. 43167

‘9\;&@%1/

@ IMPACT RESISTANT GLASS

G2 LAMINATED GLASS: 1/4" cl. an.,
0.090" SAFLEX PVB, 1/4” dl. an.
EPDM MIDDLE GASKET L5150

@ EPDM EXTERIOR GASKET WD111
@ ADJUSTABLE HINGE 2D-20
@ HARDWARE SLOT (STD "EUROGROOVE”)

@ 1/4" x 2" CF GALVANIZED STEEL PLATE REINFORCEMENT NO. AI0650
ATTACHED W/ 1 1/2" NO 8 WOOD SCREWS @ 16" 0/C

2¢k—an @ HANDLE
ASTRAGAL WOOD PROFILE HE-448, ATTACHED TO THE INACTIVE SASH WITH
#8 X 1-1/12" SCREWS SPACED @ 14" 0/C (MINIMUM EMBEDMENT: 3/47)

3/8" x 2 1/2" CF GALVANIZED STEEL PLATE REINFORCEMENT NO. Al1064
ATTACHED W/ 1 1/2" NO 8 WOOD SCREWS @ 16" 0/C

“T=CLEAR "SPECTREM 2" SILICONE SCELLANT AT SHOWN INTERFACES

PRODUCT RENEWED

as complyin, wit .
Buiding Codp ¢ 1Tt

Acceptance No




&‘“‘/X Direcftly scrfwetcrj] through '
the frame to the masonry '
f : ' . 2 X 4 PT WOOD BUCK with 1/4" x 3" Tapcon screw. SRR
d ETO | ¥ . — T Min. embedment is 1-1/2 in. - THE AMERICAS
5 =0 N
= Lo : ~ $ 1855 GRIFFIN ROAD, SUITE A-274
na ¥ - z
- R —— Steel Bracket PDF-FS-05 £ o 5 1 Y DANIA, FL 33004
= '{ “ o Screwedd to t?e buck tfr:ame & £ 9 ¥ 1 >
= - to the door frame wi w
g - | 3 10 x 1-3/4 in. FH. screws M - CONTNUQUS SERIES 70/83
* _ > in. embedment is 1-1/2" T 8 N INSWING
I~ H
% - < ] WOOD CASEMENT WINDOW
m -
f 1 s N METRO DADE COUNTY
= = . Ny : IMPACT RESISTANT
4o < [+ N PA201, PA202 & PA203
oY ~ +
w - - 3" #12 wood screw GE-074 .
= 4 =] N at fron114§'nterna| Drawing no.: MQF70—-1W
'+
T } corner & ofe GE-074 . Scale: Drawn by:
;‘__._ - 8" @ N NONE E. Corbeil
. fe bl Date drawn: Date revised:
= © ] ] SEEALSO T 09,/09/97 09/16,/02
g ~ Q ,__ PAGE 11 SASH BAR: D File: Page: 8/19
- - ) Screwed at both ends - Dadelin_5.dwg
= o~ W }#?4th2e 197123,[1 St"% with N
o . wood screw B :
; N § CE—074 ENGINEER
~
8 N M <
o L)
52 | GE-074 .
25 | >
= . A » STRICTUEALLY RVIAWEDBY ¢
< ~ . :
~ ~ kY @
=) - ™~ l
./\ o) § - ILIECO ixc.
2 I ~ TILLIT TESTING & ENGINEERING COMPANY
S Y OP&]AOlfAL £ i = 8595 NW 3¢*STREET, STE. 217
. ~ £ 0 L . —4 Screwed through the door MIAMI, FLORIDA 33166
Y ] = v g % frame to the buck frame with . -
> 2 Y g 7 > 14x 3 in, flot head screws. WALTER A. TILUT JR., PE.
% Al _ . x Using the steel brogk?t h ~ ¥ Y ~ in. embedment is 1-1/2 in. STRUCTURAL ENGINEER
= T N PDF-FS—05 screwed to the ":i:" g . FL LIC.NO. 83167
T % > o frame w/ #10 x 1-3/4 screw & S [y S
_ = ~ T 1scr4e"wed2to1 /tgg {Tmsonry with R -
= = 2 X apcon screw.
g E © s %n. embedment is 1-1/2 7 -——\/2 X 4 PT WOOD BUCK @I//;?/QV
S |~ |
(]
. ‘!\ PRODUC:I' RE'NEWED ™
| - (1) IMPACT RESISTANT GLASS ALUMINUM RAINGUARD FS155 Buiding o with the Florida
y — . —G+—SAFEP(—P{:HS—GEA55=—57/52—el—en—969—pe+yes%er- @ DECORATIE WOOD MOULOING Acceptance N §
=5 . : G2: LAMINATED GLASS; 1/4”dl. an,, T-SHAPE STEEL REINFORCEMENT 5
Ty CONTINUOUS INSTALLATION FASTI_ENERS: 0.090" SAFLEX PVB, 1/4" ¢l. an. no. AT2528 SCREWED AT 9" MAX. M’;am' 5
< 1X4PT ] Spacing is 5-1/4 in. from (@ EPDM MIDDLE GASKET L5150 2 %EVDﬂJ'gN%Xl 87X8.J WOOD SCREW. Divisi
> WOOD SHIM g corners & 14" max o/c. /

SHIM SPACE:
1/4 IN. @ JAMBS, HEAD & SILL

@ EPDM EXTERIOR GASKET L5051

@ HARDWARE SLOT (STD "EUROGROOVE")

-

CLEAR "SPECTREM 2" SILICONE
SCELLANT AT SHOWN INTERFACES




Using the steel bracket
PDF=FS-05 screwed to the
frame w/#10 x 1-3/4 screw &
screwed to the masonry with
1/4" x 2.1/2" Tapcon SoTew.

1 114 in. embedment is 1-1

HE-431

—+——1/4" Shim space
@ FOR DOORS UP TO 139 1/2" FRAME HEIGHT

—— Steel Bracket PDF-FS—-05
Screwed to the buck frame &
to the door frame with

@ FOR DOORS UP TO 96" FRAME HEIGHT

31/4" 3/8"

—

ACTIVE

CONTNUOLS @ A-DOOR WDTH—==  —=—=—DOOR WDTH-
WOOD SHIM DAYLIGHT)
., ., OPENIN , \ \
1.3/4 31/4 31/4" 3/8" 31/4"
| HE—451} ) ACTIVE INACTIVE @
;:—;; B HE —441
i <
< (]
> @ o
N HE—431 [
31/4"  7/8°3/4 3/4" 1" 31/2°  7/8"3/h"
| 5" 6 7/8" p
1/4” Shim space
———OVERALL WIDTH & FRAME WDTH

Directly screwed through the
frame to_the masonry with
1/4" x 3" Tapcon. Minimum
embedment is 1-1/2 in.

10 x 1-3/4 in. F.H. screws
in. embedment is 1-1/2". AR
HE—-431
H—H
1/4" Shim space —<>+— X
@ 2 X 4 PT wWOOD BUCK
31/4" C31/4 13/
INACTIVE l ( HE-451 [
[__c_:_:_:
\

31/2"
6 7/8"

' 3/4

1/4" Shim space

OVERALL WIDTH & FRAME WIDTH

—4 Screwed through the door
frame to the buck frame with
14 x 3 in, flat head screws.
in. embedment is 1-1/2 in.

)

WINDOWS

OF EUROPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A—-274
DANIA, FL 33004

SERIES 70/83
OUTSWING
WOOD CASEMENT WINDOW

METRO DADE COUNTY
IMPACT RESISTANT
PA201, PA202 & PA203

Drawing no.: MQF70—-1W
Scale: Drawn by:
NONE E. Corbeil
Date drawn: Date revised:
09/09/97 09/16 /02
File: Page:
Dadelout_4.dwg ’ 9/ 19

ENGINEER:

STRUCTURALLY PEVIaUED 844

[ TIECO me.\

TILLIT TESTING & ENGINEERING COMPANY
8595 NW 36*STREET,STE. 217
MIAMI, FLORIDA 33166

WALTER A. TILLIT JR., PE.
STRUCTURAL ENGINEER
FL. LIC.NO. 41167

g

@ IMPACT RESISTANT GLASS

)

NOTES:

INSTALLATION FASTENERS:
Spacing is 5-1/4 in. from
corners & 14" max o/c.

SHIM SPACE:
1/4 IN. @ JAMBS, HEAD & SILL

09/16/02 i e
G2: LAMINATED GLASS; 1/4" cl. an.,
0.090" SAFLEX PVB, 1/4" cl. an.

(2) EPDM MIDDLE GASKET L5150
(9 ADUSTABLE HINGE 20-20
(5) HARDWARE SLOT (STD "EUROGROOVE")

@ 1/4”" x 2" CF GALVANIZED STEEL PLATE REINFORCEMENT NO. AI0650

ATTACHED W/ 1 1/2" NO 8 WOOD SCREWS @ 16" 0/C
HANDLE

@ ASTRAGAL WOOD PROFILE HE—448, ATTACHED TO THE INACTIVE SASH WITH
#8 X 1-1/12" SCREWS SPACED @ 14" 0/C (MINIMUM EMBEDMENT: 3/4")

3/8" x 2 1/2" CF GALVANIZED STEEL PLATE REINFORCEMENT NO. Al1064

ATTACHED W/ 1 1/2" NO 8 WOOD SCREWS @ 16" 0/C
“T== CLEAR "SPECTREM 2" SILICONE SCELLANT AT SHOWN INTERFACES

PRODUCTRENEWED ™

as complying with th :
Buiding Code ¢ Florida
Acceptance No




Directly screwed through
the frame to_the masonry ‘
@ 3 ‘__/—\ m[th 1 /4b ()j( 3 tquc1on1 s%rqw. ®
2 X 4 PT WOOD BUCK I in. embedment is 1~1/2 in. ot
d ETm T s 7# : o sl | 1855 GRIFFIN ROAD, SUITE A—274
9 = NI ED N I ¥ DANIA, FL 33004
0 a { > & ~—— Steel Bracket PDF-FS-05 59 M (l W 5 CONTINUOUS
: 2 - ~ W Screwed to the buck frame & @ — (| N 1X 4PT
N " = tc1>0the1do§;4frpm<[a__ ﬁ/ith R - WOOD SHIM SERIES 70/83
D : o x 1-3/4 in. F.H. screws ~ M
= | NG in. embedment is 1-1/2". - @ OUTSWING
z R > * . WOOD CASEMENT WINDOW
x g
- S2 N METRO DADE COUNTY
= =g 5, IMPACT RESISTANT
g 3 . 3;' '1’2f wood tscrewI > PA201, PA202 & PA203
0 a rom interna
N ({ % corner & 14" o/c Drowi MQF 70— 1W
& rawing no.: —
— p H
q—
N < ‘ k Scale: Drawn by:
5 J 1 é i . NONE E. Corbeil
g i \lp I I Date drawn: Date revised:
: 5 A BAR > s (1) 09/09/97 | 09/16/02
S @ > ' M - File: Page:
Ty < M Screwed at both ends . ) 9 10/19
o5 N BN SEEALSO to the sosh stile with | + Dadelout_5.dwg /
=0 NG ) |, PAGE 11 #14 2 1/2" wood screw ' >
o x — = Q ENGINEER:
= S o) I ~
3 2 Y
N—— [ — . \
‘ = GE-074 "
=k @ STRACTL RALLY REVIELLEDBY: |
< O
=3 GE-074
—— RS )
OPTIONAL E
S E: > RALL <8 hLIECO we.
@ T ' na - TILLIT TESTING & ENGINEERING COMPANY
10 - ~ T ) 6595 NW 36*STREET,STE. 217
. N —2 3/4" — ~ Ny Using the steel bracket MIAMI, FLORIDA 33166
PN - - PDF-FS-05 screwed to the v :
S e N frame w/#10 x 1-3/4 screw & | "WALTER A. TRLIT JR., P.E.
TS5« 7 3 [ R screwed to the masonry with
3 : 2 : y STRUCTURAL ENGINEER
ST F 9~ | = o :/4 x 2 1/2" Tapcon ‘screw. . NO
e & L T N —_ in. embedment is 1-1/2 i FLLIC.NO. 44157
3 % x - T f—q Sctrewtcra]d tbhrol?gfh the d%ﬂr <w
o ) rame to the buck frame wi
W &8 5, 14 x 3 in. flot head screws. T~
° x| ~ in. embedment is 1-1/2 in. CONTINUOUS 7
=S ¢ | ~ TX 4 PT WOOD SHM &
~ Y ~ M .
) | .
J _ & PRODUCT RENEWED ™
% — as complying with the Florida
Buiding Code
gl Accepta.nceNo .
EQ / @ IMPACT RESISTANT GLASS @3 DECORATIVE WOOD MOULDING E 006
5 / o s S e e bt e S ST @ L, | b
. @ INSTALLATION FASTENERS: G2: LAMINATED GLASS; 1/4” d. an., o - No00 - 0fc|  Miam/Dade Product Control
< 2 X 4PT Spacing is 5-1/4 in. from " g WITH 2x 48 x 1~ WOOD SCREW.
> WOOD BUCK corners & 14 max O/C. 0.090" SAFLEX PVB, 1/4 cl. an. EMBEDMENT IS 7/8 .
1/4 IN. @ JAMBS, HEAD & SILL | (5) HARDWARE SLOT (STD "EUROGROOVE”) SCELLANT AT SHOWN INTERFACES




HORIZONTAL MULLION
| " »
- Transom 3" wood screw #12 at 4" from
Frame Sill internal corner and 14

B

o/c.

Minimum embedment is 1-1/2".

NOTES:
VERTICAL MULLION FH= FRAME HEIGHT
FW= FRAME WIDTH
Right Frame Stile Left Frame Stile

in standard

applications,

————————————— \ sidelites and transoms are
T RN W f— 5 \ screwed at the factory,
I T 2] s==== \ in special cases, job site
: EEEES r installation could be done.
I % I L S T I_J In this case, holes are
I i l \ }—I pre—drilled at the factory
| g | Q ul ,—J and screws are included.
I
k g J L"L______] \_____J Wood = Mahogany
g — -
— Z] M < X <
[ I M
: _Jl o~ Sidelite Frame Window Frame
— — e
I
[ J
= R
L\\] +l75/8” o—
Window — L4
Frame Header Q E
S70/83
+ LINSWING QPP
A S70/83
\ OUTSWING ®®@®
W P A |
Q \ & Transom Frame
4 147 14 14 || : s
™~
] | | I | i
| o )
i i 5
! t < 2
| | | = <
i $70,/83 \\\ 7 TT
[ INSWING QBEL -
| S70/83 Ve <+
& ouTewine @XEIEEI Window Frame -
\
Lo L
*r——
/ - =
q_
.- MAX. Fw= 72" " CLEAR "SPECTREM 2" SILICONE SCELLANT AT SHOWN INTERFACES

OF EUROPE AND

1855 GRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

SERIES 70/83

INSWING & OUTSWING
WOOD CASEMENT WINDOW
MULLION
SIDE BY SIDE INSTALLATION

METRO DADE COUNTY
PA201, PA202 & PA203

Drawing no.: MQF70—1W
Scale: Drawn by:
NONE E. Corbeil
Date drawn: Date revised:
11/26 /97 07/22/98
File: Page:
Coup_Wl.dwg 11/ 19
ENGINEER:

TILLIT TESTING & ENGINEERING COMPANY
6595 NW 36*STREET,STE. 217
MIAMI, FLORIDA 33166

WALTER A. TILLIT JR,, P.E.
STRUCTURAL ENGINEER
FL. LIC.NO. 44167

é// TN~

PRODUCTRENEWED X

as complying with th
Buiding Code ¢ [ToFids
Acceptance No




1

1/2" 2 3/4"

GE-074

HE-413

17/8" 1 3/4" 1 7/8”

[K
HE-412

ST

211

GE-074

11/2”

!

2 3/4”

!

|

|

7 1/8"

3/ 2 1/2" 1 1/81 3/4"" 2 1/2" 3/4"

15/8" 1 7/8" 1 3/4" 1 7/8"

3/4"

S

8 3/4"
15/8"17/8" 1

3/4"17/8 15/8

13/16"

2 3/4”

HE-401

GE-074

3/4" 21/2" 2 1/4"

17/8"13/4"17/8"

(3

N

2 3/4”

HE-413

e

HE-412

GE-074

J

a2 1/2”:2" 3/4|

2 1/2" 3/4"

GE-074

@ 09/16/02

2))

3/4" 21/2" 11/8"

13/16"

17/8 13/4"17/8

2 3/4”

7 3/4"

41/8"

@\]g /®:w

17/8" 1 3/4”

HE-412

GE-074

11/2" 2 3/4

3/4” 1 7/8" 1 5/8”

/2

3/4" 21/2" 11/8 2

3/4

7 1/8"

GE-074

GE-074

=
> 11

2 3/4”

GE-074

3/4

]

2 1178 21/2° 3/4)

7 1/8"

OF EUROPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A-—-274
DANIA, FL 33004

SERIES 70/83
INSWING
WOOD CASEMENT WINDOW

MULLION
SIDE BY SIDE INSTALLATION

METRO DADE COUNTY
PA201, PA202 & PA203

Drawing no.:

MQF70—1W

Scale:
1=3

Drawn by:
S. Marcotte

Date revised:
09/16/02

Date drawn:
07/22/97

File:

Page:
Coup_W2.dwg a9e 12/19

ENGINEER:

STELCTURALLY ERUIEUEDRY !

iy ST! ILIECO .
ESTING & ENGINEERING COMPANY
8595 NW 36*STREET,STE. 217
MHAMI, FLORIDA 33166

WALTER A. TILLIT JR., P.E,
STRUCTURAL ENGINEER
FL. LIC.NO. 44167

D P
e/ A

@

@ IMPACT RESISTANT GLASS

G2: LAMINATED GLASS: 1/4" dl. an.,
0.090" SAFLEX PVB, 1/4" ¢l. an.

EPDM MIDDLE GASKET L5150

#12-3" WOOD SCREW AT 4" FROM INTERNAL CORNER
& 14" o/c; MINIMUM EMBEDMENT IS 1 1/2"

©,
" (®
&

HARDWARE SLOT (STD. "EUROGROOVE")
ALUMINUM RAINGUARD no. FS15S
DECORATIVE WOOD MOULDING

T-SHAPE STEEL REINFORCEMENT no. AT2528 SCREWED AT 9” MAX.

o/c WITH 2x #8 x 1" WOOD SCREW. EMBEDMENT IS 7/8".
—B= CLEAR "SPECTREM 2" SILICONE SCELLANT AT SHOWN INTERFACES

as Cﬂmp, in 2

Buiding Coge " 1€ Florida
Accfptance No
Expiration Date




51/2"

N
11/2" 2 3/4" GE-074 e 11/2" 2 3/47 ‘
- ‘ g A 29, N e
T CE-074 g
GE-074 : ~ £ N GE-074 :, — 1855 GRIFFIN ROAD, SUITE A-274
R - > 5 - DANIA, FL 33
N 3 —p " s :'F T < = — . i, 0
~ J % ! ~ ~ L { £ N
- ¢ R@| | > - 2y 3 A ™ SERIES 70/83
: X N — 7 N . 2] L OUTSWING
I - J | X \ e | | J 1 % @ Ll lx WOOD CASEMENT WINDOW
o) A 8 2 M
~ i © A - MULLION
- Z g ~ ® ¥ > - { 3 ™~ 4 P o SIDE BY SIDE INSTALLATION
- o o 2
N ¥ . i " ~ . @ ol D T METRO DADE COUNTY
~ o —++ Y o~ < W ~ ol 3 . PA201, PA202 & PA203
- T > ~ ~ = . o~
—_— A aad = - - - o~
GE-074 o (3 M 3 L L é :.-" [Ll} Drawing no.: MQF70—1W
| ~ | I~ ™~ 2
1 L = - £ g Scale: Drawn by:
- _ R CE-074 1 =23 S. Marcotte
GE-074 T CE-074 NG Date drawn: Date revised:
S > 07/22/97 09,/16,/02
File: Page:
2 3/4" 15/18" 2 3/4" 15/16" Coup_W3.dwg 13/19
8 3/4
. ; ENGINEER:
@ 31/4 2 1/4 31/4
q 31/ 13/4717/8 17/8 13/ 31/2"
: HE-441 , —
N | @ STRUCTUEA LLY RRUiEWeD BT
M z :
+ - 2. HE- 441 -
~ 'oT ,g HE 441 J;L% 3 NLIECO .
. W , L\ " TILLIT TESTING & ENGINEERING COMPANY
: oy N 1 8595 NW 36*STREET,STE. 217
< X < MIAMI, FLORIDA 33166
5 TN L RPN WL, ey S ol i 0 o |
! v ey © WALTER A. TILLIT JR_ PE,
/4" 7/8" 23/4" | 23/4" 7/8" '3/4" . > STRUCTURAL ENGiiiZ"R
/ / / | / . - FL. LIC.NO. 44157
n ’1 -4 3 ” + ” 3 ”
/8 3/ 1/ 3/4" | V/8 3/4" 27 | 2 3/4" 7/8" |3/ | —
|7 1/8" 2/ /OZ
X 3 1 8
) HE-412 HE-413
< - - PRODUC!‘ RENEwWgp
| == - mE([: (1) MPACT RESISTANT GLASS (5) HARDWARE SLOT (STD. "EUROGROOVE”) B ComPIYng withthe lorida
N ? 5 09116102 ? 060 (3 DECORATIVE WOOD MOULDING Acceptance No 02-
wJ 1 [ % " Xpirati
= Y @ G2 LAMINATED GLASS; 1/4" cl. on, T-SHAPE STEEL REINFORCEMENT no. AT2528 SCREWED AT 9" MAX. on Date 006
| |2 ® 0.090" SAFLEX PVB, 1/4" cl. an. o/c WITH 2x #8 x1” WOOD SCREW. EMBEDMENT IS 7/8". By
— 11 EPDM MIDDLE GASKET L5150 ivish
/47 2 3/4 = CLEAR "SPECTREM 2" SILICONE SCELLANT AT Divisipn
51/27 12-3" WOOD SCREW AT 4" FROM INTERNAL CORNER
/ O 14" o/c; MINIMUM EMBEDMENT IS 1 1/2". SHOWN INTERFACES




] g — 0.236 0.315
A 1, R 1-0375 - 1 I .
et N @ 0.472
i;Di;if S @ L5150 NOTE: As N, when 1 :
g i compressed between
u—«» EPDM Middle Gasket —0.375 astragal & active sash 'CL_ _l_\ /‘8-11987 o s
0.19 ) Ay ' 1855 GRIFFIN ROAD, SUITE A—274
(3) WD111 EPDM Exterior Gasket R Sﬁy\o.m DANIA, B 53004
' ! [~——0.236
(6) Al0650 Al1050 | SERIES 70/83
: Steel Reinforcement 0.925 0.453 1.024— INSWING & OUTSWING
Steel Reinforcement .  CE— . . WOOD CASEMENT WINDOW
— 7 V GE-064 Glazing Bead for 1 in. ACCESSORIES & HARDWARE
/ Glass Thickness or for Wood Panel
/ —t_0.236 METRO DADE COUNTY
NOTE: Yield Point of the % / © [ AT RS TAN s
reinforcements: 47,000 psi o / / < © 0.236 0.315 .
S % . / % T 0.984 Drawing no.: MQF70—1W
o o
% 3 / - - 0.118 Scale: Drawn by:
/ / N Date drawn: Date revised:
é 7 (8) FS15S Aluminum Rainguard ~ © N S S >
7 / ® uminum Rainguar ~~0.236 [Fie Page:
Y{:) Wood Moulding ~— 0.250 / NOTE: WEEPHOLES ® 4-3/4 | B | TW_A&H.dwg 14/19
. : - n. ¢
1.772 ' l Y774 o/c, 5/32 in. x 1 in. 1.535 ENGINEER:
1.267 ‘ 0.375 GE-074 Glazing Bead for 1/2 in.
I Glass Thickness
& @ REFERING TO CROSS SECTIONS DRAWINGS OF THIS SERIE —
\ STRVUCNRAMLY paensD &/,
© PART #| QTY. DESCRIPTION MATERIAL DIMENSION LOCATION
gf)_ Q @ Lf depends on| Briigman, Push—in middle gasket |EPDM 3/4in. x 1/4 in. Continuous groove around entire perimeter
- — Sash perimeter| no. L5150 of ACTIVE SASH. Continuous groove on TILLIT TESTING & ENGINEERING COMPANY
0 - top rail, bottom rail and hinged stile of 8595 NW 36*STREET STE. 217
> IN—ACTIVE SASH MAMI, FLORIDA 33166
— . @ Lf depends on| Atlantech, Push—in exterior bulb |EPDM 3/8 in. x 3/8 in. ACTIVE & INACTIVE SASH: Along hinged stiles| WALTER A. TILLIT JR., P.E.
Sash perimeter | gasket no. WD111 ASTRAGAL PROFILE: Along the ﬁrofile, STRUCTURAL ENGINEER
1/4 between astragal and active sas Y FL. LIC.NO. 43187
+—t @ 1 per inactive | Additional Reinforcement AI0650 |Galvanized Steel 2.0 in. x .250 in. Located in a notch cut in the locking ~
4 sash AlSI C1020, lenght: 12 in. less stile of the IN-ACTIVE sash. »
n H 4_———"/
N /6" 0/C Cold drawn than inactive sash height >, 2 / e
1/8”Y 47 \ EBOXX 1 Rainguard no. FS$15S Extruded Al 15 [1.476 in. x 1.378 in. |Located on top of frame sill
- 1 per inactive | Additional Reinforcement AI1050 |Galvanized Steel [2.5 in. x .375 in. Located in a notch cut in the locking
.322 sash AlSI C1020, lenght: 12 in. less stile of the IN-ACTIVE sash.
+__T___ Cold drawn
b @ 1 per mullion|Decorative continuous moulding Mahogany wood | 1-3/4 in. x 1-1/2 in. [ Nailed along the entire length of the mullion;
0 [ E 195 j;. | on top of the T—shape reinforcement.
‘:‘_' ' :;: ' :i: ! g«zoﬁss)::r;w 1 per mullion| Welded T-Shape reinforcement Galvanized steel [1 1/4 in. x 1-1/8 in. [Screwed along the entire length of the mullion. fﬁ?ﬁﬂ; ESE m': ,?,o,.,d‘
., H H no. AT2528 AISI 1020 at 9" max. o/c with 2x #8 x1” wood screw. Buiding Code
¢3/h1f|5 é é Zcfewed © Cold drawn Embedment is 7/8". Acceptance No %x,
e max o/c GE-064 |1 per glass |Glazing bead (for 1 in. glass Mahogany Wood |3/4 in. x 1-1/2 in. Nailed through the sash frame at the glass
) edge thickness & for wood pdnel) or wood panel perimeter By
AT2528 Steel Reinforcement GE-074 {1 per glass | Glazing bead (for 1/2 in. glass |Mahogany Wood [3/4 in. x 1=1/2 in.  |Nailed through the sash frame at the glass ?:i':,:; Dade Product Contro
edge thickness perimeter




©

O

......

:
o~
«
o

I=F S
© i .
8 ==

=

W)

P 2.066
3 : 3
M 0
L} o~

(1) 2D-20 Adjustable Hinge

HINGES SPACING

FRAME  QTY: DIST.  0/C
HEIGHT FROM  MAX.
Up TO CORNER

481/8" 2 61/8" 27
69 1/8" 3 61/8" 27"
9% 1/8" 4 61/8 27"
1391/2" 5 61/8" 30 3/8

NOTE: REFERED TO AS @ IN THE CROSS

TABLE 1

'WALTER'A. TILLIT JR., PE.
STRUCTURAL ENGINEER
FL. LIC.NO. 44167
SECTIONS DRAWINGS OF THIS SERIE g
PART #| QTY. DESCRIPTION MATERIAL DIMENSION LOCATION
1 Refer to Simons Werk Gmgh, |Bichromated Steell3.346 in. x 2.538 in{Refer to Table 1
Table 1 | Adjustable hinges open in) x .2.324 in. o ENEWED
no. 2D-20 tainless ?teel B"idingCodge ¢ Florite
open out .08
2 2 per F.H. Wood screw Galvanized steel |#8 x 1-1/2 in. 00b
hinge By,
3 Depends on [ PROTOL, Installation  |Galvanized steel |3.101 in. x 1.181 in. [5-1/4 in. from corners & 14 in. max. o/c, Divid;
frame size | Bracket no. PDF-FS-05 x 0.197in. t. between framing member & buck frame.

0.098 ,, 1.181
0.591 , 0.591
Phillips,

. — #8x 1-3/4”
© |_—wood screw
0 L to window
© 1 _ frame

v

M~
S R0.079 8
M) N
- TRO.158
= R0.079
M Y
o~ ]
N =
Py [ - —_ \\
3 g Phillips,
Q #8 x 1-3/4"
wood screw
d to buck frame

'j'l l 0.481 l

0.197 O.352~l ’ LO.348

@ PDF-FS-05 Installation Bracket

9

OF EUROPE AND

THE AMERICAS

1855 GRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

SERIES 70/83 & 70/114
WOOD CASEMENT WINDOW
& WOOD DOORS

ACCESSORIES & HARDWARE

METRO DADE COUNTY
IMPACT RESISTANT
PA201, PA202 & PA203

Drawing no.: MQF70—-1W
Scale: Drawn by:
1=1 E. Fortin
Date drawn: Date revised:
08/07/98 -
File: Page:
70_A&H.dwg | 15 /19
ENGINEER:

SR UCTURALLY CEUISCDEY;

/ TWLIECO we. \
TILLIT TESTING & ENGINEERING COMPANY
$595 NW 36" STREET,STE. 217
WHAMI, FLORIDA 33168




o Q
<+ = o — m ER
~ O M = Elo a I T
(9] +~ | n E
! 2= .8 [255 1o v 85 S22k
e = | ,£2 zz<]| L |°2|g'|© 2\ ilous SEO £ g
— - - =
ts 1822 385 | _sule |8 3 |lol5s e234) = S ¢
‘. »3 SET Owus o |+~ o N o i i 2 b
9 ~NZ 0O L9 L | & o] o 0 Wi a 9 £ g
el ol Y Sk | D I—=1* > SEE g Ee 3
#oec|dg= 2793 - S| Dt HANNS freid N
< 7 e
z | o oo | .. .. z N £38
S E TR I S (=lg22 2SR FENE
5t & wO & 528 | ywlEa] % i 2 m L m_ R o SEER AN B
\ i 238 2
0 w Q = =12 e 52 .m_ Z N m“ LU Ez228 as8
© O z |2 e% .=l O w 3 Am
" = °18 |72 & 3 = =
aln |0 | w w
( % Ku
s
=
o
|
"INVYHL 3H1 NO G31INNOW "JNVYH4 3H1 NO 31NNOW
Y3d3IN V OLNI ONIXIOOT HOVA Y3d3A3A V OLNI ONIMOOT HOV3
‘WILSAS XD07T INIOd N33 1414 i ‘W3LSAS MOO01 INIOd XIS
IN3A JAILOV AN3A JAILOVNI
o
p
u]
(pajunow apis 3|pbo.ysD)
9Ji}S 48juad uo | ‘HSVYS JALLIVNI U0 v/N [33}s pajpwolyn—ig ajpuoy adh} Jara ‘0J¥IS | 6
Aloa Aow ysbs wo}joq ay} o} 3A1}D[R 1ybiay sy ays (pajunow owct:mv
‘BJl}s J8juad uo | "HSYS JALLIV YO v/N ajpupy uo spuadaq ajpuby 3dA} JaasT ‘0QYy3d | 8
“J9UI0d Wo}joq ¢£—0-00—-C90¥¢—9 ou
uo | pup Jsusod do} uo | ‘HSYS IJALLOVNI uQ v/N [83}s pajpwoly)—ig JauJod uoISSIWSUDI| ‘0)¥34 z l
"J9UJ0d ¢£-0-00—-65¥/¢—9 "ou
WO0}0g U0 | pub JauJod do} uo | ‘HSYS JAILIY U0 v/N [93}s pajowoly)—Ig Jaulod uoISSIWSUDI| ‘00Y3S rA 9
£30—-80-9.6¥C—9 OU
‘9|l}S 18juad uo | 'HSVS 3ALLOVNI U0 v/N [33}s pajowolyn—ig wsjuoyoaw bunooy ‘00y3d | g
£-0-00-65¥LC—9 "ou
‘BJI}S J8juad uo | ‘HSYS JALLOV UQ V/N |99} _pajpwo.yy-1g wsjuoydaw wod buixd07 ‘0J¥3d l 14
‘liDJ Woy30q  uo | puo |ioJ do} uo | :HSYS 3ALLOVNI £-0-00-56¢9¢—9 "ou
‘14 Wo3j0q U0 | pup |ios do} uo | :HSYS JAILDV V/N [33}s pajpwolyn—ig 109 YHm WD uoisuaixa ‘QJy34 14 ¢
"3(I}s J9JU3Y Uo |
pup ‘s woyjoq uo | ‘o) doy o | :HSYS JALLOVNI .
"3)|}s J9JUd UO | ¢£-0—-00—05900—8 "ou
pup ‘i) Wojjoq uo | ‘s doy uo | :HSYS JAILOY v/N [e31s pajbwolyy—ig }/0g }NOy}IM WD UOISUSIX3 ‘D3 9 [4
“fibJ WOJj0q U0 ¢ pub [IDJ 4O} U0 ¢ IHSYS JAILOVNI
"3|I}S J9}UId U0 g pup
‘ipJ woyjoq Uo ¢ ‘ipd doy WO ¢ :HSYS JAILOY v/N [93)s pajowouyg—Ig § £-0-00-Z2GLZ—9 OU Jadaay ‘0J¥3J 14 |
NOILV301 NOISN3NId VIM3LVIA NOILdI¥OS4d "ALD # 13vd




HORIZONTAL
MEMBER

Sash Bar STROCTVRALLY REVIEWED B!
\ L TILLIT TES .
TESTING & ENGINEER!
Sash Bar 4505 NW SO STREET STE. 317 "
MIAMI, FLORIDA 33166
cLueo Faces (1) N WALTER A. TILLIT JR., P.E.
STRUCTURAL ENGINEER
v FL.LIC.NO. 44167
MULTI-FORKS ASSEMBLY SASH BARS ASSEMBLY
NOTE: ALL FRAME CORNERS NOTE: SQUARE CUT AND SCREWED
PRODUCT RENEWED
PART # QTY. DESCRIPTION MATERIAL DIMENSION LOCATION ;:fgi':g'éi:gewith'hel"lorida
1 As needed| Resibois 222 Glue At shown interfaces. Acceptance No
no. 30222-01 type 1 N/A
exterior wood glue
2 2 per F.H. Wood screw Galvanized steel #14 x 2-1/2 in. |Through the frame stile to Divigio
muntin bar the center of the sash bar.

VERTICAL
MEMBER

ELEVATION
Inside View

/

v
|

Frame Stile
T

OF EUROPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A—274
DANIA, FL 33004

SERIES 70/83
WOOD CASEMENT WINDOW

CORNER CONSTRUCTION

METRO DADE COUNTY
IMPACT RESISTANT
PA201, PA202 & PA203

Drawing no.:

MQF70—-1W

Scale:
NONE

Drawn by:
E. Fortin

Date drawn:
08/05/98

Date revised:

File: Page:
1W_corner.dwg 9 17/ 19

ENGINEER:




09/16,/0

.630 - .590

1.536

—e
P — @

+/-.039

.551

AR A A A AN

X X

+/—.039

xxxxxxxx

197

WITH LAMINATED GLASS

OF EUROPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A—274
DANIA, FL 33004

SERIES 70/83
WOOD CASEMENT WINDOW

GLAZING METHOD
METRO DADE COUNTY

IMPACT RESISTANT
PA201, PA202 & PA203

Drawing no.:

MQF70—1W

Drawn by:
E. Fortin

Scale:
1.5=1

Date revised:
09/16 /02

Date drawn:
11/10/98

File:

Page:
1W_glaze.dwg a9e 18/ 19

ENGINEER:

2:

PART #

QTY.

DESCRIPTION

MATERIAL

DIMENSION

LOCATION

Nt

Impact Tesistant

"Cafal

n.Anneafed giass &

551 Glass bite

rd

37/t6 i —from gtass Tebate

w—Pluar Al
Jarety T 4s—grass

L e bl
oryester—Tresin,—ootn

D i e ol | fal
REIEr 10 Tapie £

O in PET Ciem
Ui T TR

STEOCTUMALY em’ag;oer:

/[ TidECOm \

TILLIT TESTING & ENGINEERING COMPANY
6595 NW 36*STREET,STE. 217
MIAMI, FLORIDA 33166

WALTER A. TILLIT JR., P.E,
STRUCTURAL ENGINEER
FL. LIC.NO. 44167

S o

3

Impact resistant
Laminated glass

1/4 in. Annealed glass both sides
of 0.090 in. Saflex interlayer.

0.551 in. Glass bite
Refer to Table 2

3/16 in. from glass rebate

Depends on
frame size.

SENCO, nails

Galvanized steel

1-1/4 in.
gauge 16

2 in. from corners &
10 in. o/c.

TABLE 2:
MAX. PERI. |MAX. AREA
TYPE OF GLASS [in] [sq.ft]
62: LAMINATED GLASS, Saflex .090
1/4 cl. an.+ 0.090 +1/4 cl. an. 312 250
WP: 1"3/4 RAISED WOOD PANEL 151 1/8 8.83

As needed.

Dow Corning 995
Silicone Structural
Adhesive

Silicone

N/A

At shown interfaces.

GE-074

1 per glass
edge.

Glazing bead (for

1/2 in. glass thickness)

Mahogany wood

3/4 in. x 1-1/2 in.

Nailed through the sash
frame at glass perimeter

PRODUCT RENEWED

as complying with the Florida
Buiding Code
Acceptance No 02-




NOTE: The perimeter of each solid Mahogany
wood panel is trimmed to an overall

thickness of 1 in.

1.772

.551

Py 4
I |
-\ —
N\ A
) [ X
= ©)
630 984 | | 1.063
+/-.039 +/—.039
4
%
& K]
K ¥
-
’

DN

197

OF EUROPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

SERIES 70/83
WOOD CASEMENT WINDOW

GLAZING METHOD

METRO DADE COUNTY
IMPACT RESISTANT
PA201, PA202 & PA203

Drawing no.: MQF/0—1W
Scale: Drawn by:
1.5=1 E. Fortin
Date drawn: Date revised:
08/07/98 —
File: Page:
1W_panel E 19/ 19
ENGINEER:
STRUCTURA LCY REVIEILED BY:

TILLIT TESTING & ENGINEERING COMPANY
8595 NW 36*STREET STE. 217
MIAMI, FLORIDA 33166

WALTER A. TILLIT JR., P.E.
STRUCTURAL ENGINEER
. FL.LIC.NO,A3167

PART # QTY. DESCRIPTION MATERIAL DIMENSION LOCATION
. 1 1 MQ, Raised Wood Panel Mahogany Wood 1-3/4 in. thick. |3/16 in. from glass rebate
TABLE 3. Refer to Table 3
MAX. PERI. | MAX. AREA 2 Depends on | SENCO, Nails Galvanized steel 1-1/4 in. 2 in. from corners &
TYPE OF GLASS (in.] (sq.ft.] frame size. gauge 16 10 in. o/c.
WP: 1"3/4 RAISED WOOD PANEL 151 1/8 8.83 3 As needed. | Dow Corning 995 Silicone N/A At shown interfaces.
Silicone Structural Adhesive

GE-064 | 1 per panel | MQ, Glazing bead (for 1 in. glass | Mahogany wood 3/4 in. x 1/2 in. |Nailed through sash frame
edge. thickness or wood panel) at glass/wood panel perimeter

//;// %0‘\/

PRODUCT RENEWED

as complying with the Flori
Buiding Code rida
gceeplance No_Q




